2 3 4 _ 5 _ 6 _ 7 8 9 10
5919.5 : : _
12425 8 1651
3600 642.5
15 510 510 510 510 510 510 510 5. 240 340 12,5
1057 203 60 200 0 200 60 200 0 200 60 200 1.5 51, 975
O
WZ-2/1 4" "
SEUP S1/1 [ 25x25 . AN
SLUP S1/1 SLtUPS1/A | . SLUP S1/1 SEUP S4/1 NZ1j19 - .
30x30 A SHUP S2/1 SLUP S3/1 19 |
SEUP S1/1 T\ 30x30 \ 30x30 30x30 30x30 30x30 30x30 . 25x25 i
woxwo T T T T T T T T T T T !
\ N\ N\ i i i i NZuts X \ |/
: . N‘ .&mHHHHHHHHHHH HHHHHDHHHHH-HX\HHHHHHHHHHHH@\ . . - N . = “ 1/ m L : :
l " Hh 'N\_  NADPROZE NZ1/1 i " : o il /E ! K
AN ! N 26x35 / \\ 2 I N 3 o
(o2} I
Rk Sl |1 S 1D e <3 Il I SE ]
[T b R R I m_.m 2T =2 =g =3 | 1l L N[O - o Ve
'm|S —F-= “--rH S (RN o) e Y Ol — i + W2 = [« p ot
=9 N NZA/9 1% il SIS R [ ) o8 Qg i - . RE: e
Ak e . ans| | 2 Tk T S 0 ) ]| P2 o LR n
o Te} + 1 N [32] - ] .
2|8 | e [ = |1 B 1= 2 | g 1| nE W LW i
o |© N S 1 [®] I 4 B%_ m il | i [
) : St = B g N G lo a- B s o — e — = . .
P13 Nz1e ] diil ° dii |8 di 3 3 e LY I I W 5o
| m_ | m | m e Al NZ1/18 m | WZ-2/1 M N PL-1/3 d NSt1/2
sweson || ; | 8 8 i 8 1l sls ; i
H . [ I - . .
30x30 SLUP S5/ &) SLUESSI 1l StuPsS5/1 [l NZ1/9 i SEUP S5/1 ! SLUP S6/1 !|! SLUPSTI | Q|5 d12
| 1 K 106 " " ! 1| oy N 268 1 233 25
| [ | 1 | " |V W K M'm ]
...................... . o i) - I I —
. 30x45, OK=+3.45do+4.09 ! 7 ! [e )
N |0 NZ1/21 ! ’ 1 NZ1/7 1 LI | LIS ik
R L stup st N ||| |22 ! S St z
W_ % Lo 30x30\ || BL1/5 ' |
||||||||||||||||||||||||||||||||||||||||||||||| R : "
| | | _ Newesen A il /: Sz g -
. . ! ; ! g g |
Y UP S21'/M _._ SLUP S8/1 1 | ) | BELKA BL1/2 | | . | i .
. -~ 30x30 ] | il | 305, OK=+3.81 | 30x30 | NZ1/9 I Nze /L NZ1/6 NSt/ |
v ] y, | H I | | ] ] mewm :u L AOG _\AVM_\ Aom ¥ Awm
NNZ1/9 NZ1/9 | U _ ] _ . L
q. I S all ql! 0 § d NZ1/10 T T TN, ]
9 9 gt o e g s ||||u#n||-|
. Q_ nu_.”I_ o o o - " _0 K m R - A .H_Wlllln - R . - u d] . .
T [ | )
1 [ 1 [ 1 N - 1 - K
! OK=+3.45/4.09 | | N o ! szt = —
i i Ak ik o NZ1/9 i a1 =9
i = [a} a] a] 7 — P “_\_ | | M D e
. I mpeze ] | R . ] S8 | e [ ses e == |
- 1 289x25 i|[r <<N|N\‘_ “ - 1 . 1 - ' : . -0 . X! _ .
SLUP S11/1 Nz111.4 ! it 55195 ! NZin4 | SRS NZ1/3 1! NZ1/13 25x25/) i Nl SIS Nz1m7 S NZ1/9)
30x30 . - ! itk X 5 25 | 11/ 25x25) 1.1 / 2o%25 L x| M% Nﬂmm . 287 342 9% 54|
T &P. : ] “HHEUHH.H_WHHH@WHHHH S = e = S HHUHHN\HH[HHDHW&WHUHH.H_I_|._LHH_“ﬁum”\muu.uuuuﬂuuuw ST === 1T ./ I B e S : : : : : : I
S| ~ . . . . . . (H . . . . I ]\ . . . . 1\ . . . . | . . . A . A . . | /. . . . . . . . . . .
— T \I T i T T
. il 90 40} 90 [s5] 90 4ol o0 [35) 90 leol 90 35| 90 Juod o0 |35 o0 |40 o0 |ss| 90 _sx_, 90 165 90 |35, 90 JssL 90 leo) 90 leo) 114 | 106 L835] 90 [s5) 90 | 79 | 106 s& 166 : Mvﬁ L 116 |ad :
&= SEUP S11/1 SEUP S11/1 SEUP S11/1 \ SLUP $11/1 seup s11/1 /4 SLUP S12/1 . 8
30x30 30x30 30x30 30x30 StUP S11/1/|S
30x30 || 30x30
o 1 | ©
” £ i | o 2
o StUP S13/1 [N . [ al -l m
a < = 30x30 1 1 | |BELKA BL1/4 P 3
S Y Y 1|1 - 30x45, OK=+4.14 “
NI o _
a = RS BL1/6 = N N 2
Tl |\ 30xd666 [ i o _ q ® >
~fh \Uk=360  tN 3 ! ! PL-1/4 ' =
Lo 1 PLUP S16/1 gr=T5cm g o -
£ o || 30x30 OK=+4.09/4.64 = =
Q |1 -BELKA BL1/4 m . >— =]
Sy |1 30x45, OK=+4.36 ! _
¥ N |5% o N
2 =193 = |1 il |
0 Sy Y N S NS 4 U | P
< e Z I A ]
+ : : 1 1 =
S U | S (B | 1] S =
= ) i StUPs1511y” 1! - ! = 40 =
il 30x30 \_«" “ j =
- 29 : BELKA BL1/3 ' A =
m Q2 2 30x45, OK=+4.14d0+4.62 N m/_/ o Sl - - =
= ) . |Sw ’ ’ T Th Vo (o) 060606 o080 : ’ U m s | £
2 oYy gl E g : . - 5 2
0 1 w = ol 1 2 = 2
IS ) =] 1 [ = o
S | e | 2 i i | 2k &
™) I L 1 l UM
zd i -
- . o BELKA BL1/4 o </
| B K 30x45, OK=+4.60 | m © =
| b i ) | m =| = -
de A SLUP S17/1 ) L 3 | B g3
N “ 30x30 Vo o = >
| 7 A % ESRL N R 7 S & 2
vn\Uu “ (v mm H-H a =
L AR : =
‘N
m// W % F L L] s m -
! o = =
o ! - = StUP S18/1 2| & d
32 - 33 . H z
0 | ZW o N3 - 30x30 = wn| = &
~ Lo | a|® I = =
) | ) 9.5 U AMn = ZF| o
Jroad [ ad . =4 = ~
) _ 7 30 420 30180 =l gl 5| B
| o 745 L45 240 180 180 6 1 S| 2| 2| g
IIi 1] /53 26.5 Pl el ol &
s =
) =S %.‘;5
3 = (0 = =2
o | g 33
s = 1 s B2
T | g 7z
SRR
. . \ ] ] | - | S eldE =
BL1/8 S 552 g€
30x35 . £ 5158 5|2
UK=+3.00 W2Z-1/1 - ] _.m £ L 2|z
275 25x25 g 2Es |
300 . ceEE <
330 WZ-1/2 . S =8 = 2
25x25 ©
OK=+5[40m a
< N
S o
L — \I m .m
"1 15 g |z
s S8 |3
H ]
58s% o
$85x [N
90 35 >
0 o 2 x
°eg g e >
53¢ = = c
moS 8 ©
£
= (N
1
=S |2
Q —_
ﬂy e
N
(73]
z
2 3 _ 4 5 6 8 9 10 11 12




